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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3363 ±Constant = 3.106 

 0.7266 ±Mean     = 132.3 

 0.5137 ±Sigma    =  8.22 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3363 ±Constant = 3.106 

 0.7266 ±Mean     = 132.3 

 0.5137 ±Sigma    =  8.22 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3525 ±Constant = 3.257 

 0.693 ±Mean     = 130.4 

 0.4898 ±Sigma    =  7.84 

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3525 ±Constant = 3.257 

 0.693 ±Mean     = 130.4 

 0.4898 ±Sigma    =  7.84 

Vt50 (mV)80 90 100 110 120 130 140 150 160 170

n
(C

h
an

n
el

s)

0

1

2

3

4

5

6

Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3462 ±Constant = 3.198 

 0.7058 ±Mean     = 129.2 

 0.499 ±Sigma    = 7.985 

Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3462 ±Constant = 3.198 

 0.7058 ±Mean     = 129.2 

 0.499 ±Sigma    = 7.985 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3286 ±Constant = 3.035 

 0.7435 ±Mean     = 123.9 
 0.5257 ±Sigma    = 8.412 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3286 ±Constant = 3.035 

 0.7435 ±Mean     = 123.9 
 0.5257 ±Sigma    = 8.412 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3651 ±Constant = 3.372 

 0.6692 ±Mean     = 128.8 
 0.4732 ±Sigma    = 7.571 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3651 ±Constant = 3.372 

 0.6692 ±Mean     = 128.8 
 0.4732 ±Sigma    = 7.571 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3374 ±Constant = 3.117 

 0.7241 ±Mean     = 122.5 
 0.512 ±Sigma    = 8.192 

Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3374 ±Constant = 3.117 

 0.7241 ±Mean     = 122.5 
 0.512 ±Sigma    = 8.192 
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Chip 0 Gain at 2.00fC Nent = 128    

 1.772 ±Constant = 16.37 
 0.1378 ±Mean     = 57.54 
 0.09746 ±Sigma    = 1.559 

Chip 0 Gain at 2.00fC Nent = 128    

 1.772 ±Constant = 16.37 
 0.1378 ±Mean     = 57.54 
 0.09746 ±Sigma    = 1.559 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.258 ±Constant = 20.86 
 0.1082 ±Mean     = 58.55 
 0.07649 ±Sigma    = 1.224 

Chip 1 Gain at 2.00fC Nent = 128    

 2.258 ±Constant = 20.86 
 0.1082 ±Mean     = 58.55 
 0.07649 ±Sigma    = 1.224 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.326 ±Constant = 21.48 
 0.1051 ±Mean     = 58.31 
 0.07428 ±Sigma    = 1.189 

Chip 2 Gain at 2.00fC Nent = 128    

 2.326 ±Constant = 21.48 
 0.1051 ±Mean     = 58.31 
 0.07428 ±Sigma    = 1.189 
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Chip 3 Gain at 2.00fC Nent = 128    

 2.536 ±Constant = 23.43 
 0.09632 ±Mean     = 56.19 

 0.0681 ±Sigma    =  1.09 

Chip 3 Gain at 2.00fC Nent = 128    
 2.536 ±Constant = 23.43 

 0.09632 ±Mean     = 56.19 

 0.0681 ±Sigma    =  1.09 
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Chip 4 Gain at 2.00fC Nent = 128    
 1.786 ±Constant =  16.5 

 0.1368 ±Mean     = 56.89 

 0.0967 ±Sigma    = 1.547 

Chip 4 Gain at 2.00fC Nent = 128    
 1.786 ±Constant =  16.5 

 0.1368 ±Mean     = 56.89 

 0.0967 ±Sigma    = 1.547 
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Chip 5 Gain at 2.00fC Nent = 128    
 2.075 ±Constant = 19.17 

 0.1177 ±Mean     = 54.21 

 0.08324 ±Sigma    = 1.332 

Chip 5 Gain at 2.00fC Nent = 128    
 2.075 ±Constant = 19.17 

 0.1177 ±Mean     = 54.21 

 0.08324 ±Sigma    = 1.332 
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Chip 0 Extrapolated Offset Nent = 128    
 0.7301 ±Constant = 6.579 

 0.7365 ±Mean     = 17.07 
 0.5714 ±Sigma    = 7.814 

Chip 0 Extrapolated Offset Nent = 128    
 0.7301 ±Constant = 6.579 

 0.7365 ±Mean     = 17.07 
 0.5714 ±Sigma    = 7.814 
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Chip 1 Extrapolated Offset Nent = 128    
 0.7434 ±Constant = 6.645 

 0.8605 ±Mean     = 12.84 
 0.6771 ±Sigma    = 7.842 

Chip 1 Extrapolated Offset Nent = 128    
 0.7434 ±Constant = 6.645 

 0.8605 ±Mean     = 12.84 
 0.6771 ±Sigma    = 7.842 
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Chip 2 Extrapolated Offset Nent = 128    
 0.7197 ±Constant =  6.47 

  1.02 ±Mean     =  11.4 
 0.7792 ±Sigma    = 8.193 

Chip 2 Extrapolated Offset Nent = 128    
 0.7197 ±Constant =  6.47 

  1.02 ±Mean     =  11.4 
 0.7792 ±Sigma    = 8.193 
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Chip 3 Extrapolated Offset Nent = 128    

 0.6523 ±Constant = 5.864 
  1.32 ±Mean     = 10.62 
 0.9582 ±Sigma    = 9.045 

Chip 3 Extrapolated Offset Nent = 128    

 0.6523 ±Constant = 5.864 
  1.32 ±Mean     = 10.62 
 0.9582 ±Sigma    = 9.045 
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Chip 4 Extrapolated Offset Nent = 128    

 0.8172 ±Constant = 7.337 
 0.6555 ±Mean     = 15.31 
 0.5077 ±Sigma    = 6.946 

Chip 4 Extrapolated Offset Nent = 128    

 0.8172 ±Constant = 7.337 
 0.6555 ±Mean     = 15.31 
 0.5077 ±Sigma    = 6.946 
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Chip 5 Extrapolated Offset Nent = 128    

 0.8155 ±Constant = 7.251 
 0.681 ±Mean     = 14.19 
 0.534 ±Sigma    = 6.966 

Chip 5 Extrapolated Offset Nent = 128    

 0.8155 ±Constant = 7.251 
 0.681 ±Mean     = 14.19 
 0.534 ±Sigma    = 6.966 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 4.316 ±Constant = 39.87 

 3.774 ±Mean     =  1450 

 2.668 ±Sigma    =  42.7 

Chip 0 Input Noise at 2.00fC Nent = 128    
 4.316 ±Constant = 39.87 

 3.774 ±Mean     =  1450 

 2.668 ±Sigma    =  42.7 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 4.926 ±Constant =  45.5 

 3.307 ±Mean     =  1419 
 2.338 ±Sigma    = 37.41 

Chip 1 Input Noise at 2.00fC Nent = 128    
 4.926 ±Constant =  45.5 

 3.307 ±Mean     =  1419 
 2.338 ±Sigma    = 37.41 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 7.018 ±Constant = 64.82 

 2.321 ±Mean     =  1392 

 1.641 ±Sigma    = 26.26 

Chip 2 Input Noise at 2.00fC Nent = 128    
 7.018 ±Constant = 64.82 

 2.321 ±Mean     =  1392 

 1.641 ±Sigma    = 26.26 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 5.239 ±Constant =  48.4 
 3.109 ±Mean     =  1425 
 2.198 ±Sigma    = 35.17 

Chip 3 Input Noise at 2.00fC Nent = 128    

 5.239 ±Constant =  48.4 
 3.109 ±Mean     =  1425 
 2.198 ±Sigma    = 35.17 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 4.255 ±Constant = 39.31 
 3.827 ±Mean     =  1438 
 2.706 ±Sigma    =  43.3 

Chip 4 Input Noise at 2.00fC Nent = 128    

 4.255 ±Constant = 39.31 
 3.827 ±Mean     =  1438 
 2.706 ±Sigma    =  43.3 
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Chip 5 Input Noise at 2.00fC Nent = 128    

 4.294 ±Constant = 39.66 
 3.793 ±Mean     =  1488 
 2.682 ±Sigma    = 42.92 

Chip 5 Input Noise at 2.00fC Nent = 128    

 4.294 ±Constant = 39.66 
 3.793 ±Mean     =  1488 
 2.682 ±Sigma    = 42.92 
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Page 3   Run 5330   Start Scan 13   Stream 1   Module 3 (20220170200400mDaqLTL) - Type .
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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.392 ±Constant = 3.621 

 0.6232 ±Mean     = 130.9 

 0.4406 ±Sigma    = 7.051 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.392 ±Constant = 3.621 

 0.6232 ±Mean     = 130.9 

 0.4406 ±Sigma    = 7.051 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3517 ±Constant =  3.24 

 0.6965 ±Mean     =   130 

 0.4929 ±Sigma    =  7.88 

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3517 ±Constant =  3.24 

 0.6965 ±Mean     =   130 

 0.4929 ±Sigma    =  7.88 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3468 ±Constant = 3.189 

 0.7078 ±Mean     = 127.9 

 0.501 ±Sigma    = 8.007 

Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3468 ±Constant = 3.189 

 0.7078 ±Mean     = 127.9 

 0.501 ±Sigma    = 8.007 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3115 ±Constant = 2.866 

 0.7843 ±Mean     = 125.4 
 0.5546 ±Sigma    = 8.839 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3115 ±Constant = 2.866 

 0.7843 ±Mean     = 125.4 
 0.5546 ±Sigma    = 8.839 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.2967 ±Constant = 2.728 

 0.8274 ±Mean     = 124.8 
 0.5856 ±Sigma    =  9.36 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.2967 ±Constant = 2.728 

 0.8274 ±Mean     = 124.8 
 0.5856 ±Sigma    =  9.36 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3256 ±Constant = 3.008 

 0.7502 ±Mean     =   134 
 0.5304 ±Sigma    = 8.488 

Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3256 ±Constant = 3.008 

 0.7502 ±Mean     =   134 
 0.5304 ±Sigma    = 8.488 
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Chip 0 Gain at 2.00fC Nent = 128    

 1.925 ±Constant = 17.78 
 0.1269 ±Mean     = 60.99 
 0.08975 ±Sigma    = 1.436 

Chip 0 Gain at 2.00fC Nent = 128    

 1.925 ±Constant = 17.78 
 0.1269 ±Mean     = 60.99 
 0.08975 ±Sigma    = 1.436 
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 2.012 ±Constant = 18.58 
 0.1214 ±Mean     = 58.36 
 0.08586 ±Sigma    = 1.374 

Chip 1 Gain at 2.00fC Nent = 128    
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 0.08586 ±Sigma    = 1.374 

Gain (mV/fC)0 10 20 30 40 50 60 70 80 90 100

n
(C

h
an

n
el

s)

0
2
4
6
8

10
12
14
16
18
20
22
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  2.21 ±Constant = 20.41 
 0.1105 ±Mean     = 57.33 
 0.07816 ±Sigma    = 1.251 
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 0.07816 ±Sigma    = 1.251 
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Chip 3 Gain at 2.00fC Nent = 128    
 2.221 ±Constant = 20.52 

  0.11 ±Mean     = 57.54 

 0.07778 ±Sigma    = 1.245 
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 2.221 ±Constant = 20.52 

  0.11 ±Mean     = 57.54 

 0.07778 ±Sigma    = 1.245 
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Chip 4 Gain at 2.00fC Nent = 128    
 2.185 ±Constant = 20.19 

 0.1118 ±Mean     = 57.24 

 0.07904 ±Sigma    = 1.265 
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 2.185 ±Constant = 20.19 

 0.1118 ±Mean     = 57.24 

 0.07904 ±Sigma    = 1.265 
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 2.027 ±Constant = 18.72 
 0.1205 ±Mean     = 60.69 

 0.08522 ±Sigma    = 1.364 
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 2.027 ±Constant = 18.72 

 0.1205 ±Mean     = 60.69 

 0.08522 ±Sigma    = 1.364 
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Chip 0 Extrapolated Offset Nent = 128    
 0.834 ±Constant = 7.604 

  1.37 ±Mean     = 6.444 
 0.8956 ±Sigma    = 7.308 
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 0.834 ±Constant = 7.604 

  1.37 ±Mean     = 6.444 
 0.8956 ±Sigma    = 7.308 
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Chip 1 Extrapolated Offset Nent = 128    
 0.7385 ±Constant = 6.582 

 0.8794 ±Mean     = 12.66 
 0.6906 ±Sigma    = 7.881 
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 0.7385 ±Constant = 6.582 

 0.8794 ±Mean     = 12.66 
 0.6906 ±Sigma    = 7.881 
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Chip 2 Extrapolated Offset Nent = 128    
 0.7338 ±Constant = 6.471 

 0.8576 ±Mean     =  13.1 
 0.6762 ±Sigma    = 7.829 
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 0.7338 ±Constant = 6.471 

 0.8576 ±Mean     =  13.1 
 0.6762 ±Sigma    = 7.829 
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 0.7743 ±Constant =   6.5 
 0.7922 ±Mean     =  12.2 
 0.626 ±Sigma    = 7.044 
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 0.7743 ±Constant =   6.5 
 0.7922 ±Mean     =  12.2 
 0.626 ±Sigma    = 7.044 
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Chip 4 Extrapolated Offset Nent = 128    

 0.6669 ±Constant = 5.979 
 1.393 ±Mean     = 9.594 
 0.9837 ±Sigma    =  8.83 
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 0.6669 ±Constant = 5.979 
 1.393 ±Mean     = 9.594 
 0.9837 ±Sigma    =  8.83 
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Chip 5 Extrapolated Offset Nent = 128    

 0.6636 ±Constant = 6.115 
 1.334 ±Mean     =  10.4 
 0.9587 ±Sigma    = 9.114 
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 0.6636 ±Constant = 6.115 
 1.334 ±Mean     =  10.4 
 0.9587 ±Sigma    = 9.114 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 6.156 ±Constant = 56.87 

 2.646 ±Mean     =  1297 

 1.871 ±Sigma    = 29.93 
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 6.156 ±Constant = 56.87 

 2.646 ±Mean     =  1297 

 1.871 ±Sigma    = 29.93 
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 5.497 ±Constant = 50.77 

 2.963 ±Mean     =  1421 

 2.095 ±Sigma    = 33.52 
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 5.497 ±Constant = 50.77 

 2.963 ±Mean     =  1421 

 2.095 ±Sigma    = 33.52 
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 3.879 ±Constant = 35.83 

 4.199 ±Mean     =  1466 

 2.969 ±Sigma    =  47.5 
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 3.879 ±Constant = 35.83 

 4.199 ±Mean     =  1466 

 2.969 ±Sigma    =  47.5 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 5.007 ±Constant = 46.26 
 3.253 ±Mean     =  1458 
   2.3 ±Sigma    =  36.8 
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 5.007 ±Constant = 46.26 
 3.253 ±Mean     =  1458 
   2.3 ±Sigma    =  36.8 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 4.261 ±Constant = 39.36 
 3.823 ±Mean     =  1438 
 2.703 ±Sigma    = 43.25 
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 4.261 ±Constant = 39.36 
 3.823 ±Mean     =  1438 
 2.703 ±Sigma    = 43.25 
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Chip 5 Input Noise at 2.00fC Nent = 128    

 4.424 ±Constant = 40.86 
 3.682 ±Mean     =  1341 
 2.603 ±Sigma    = 41.65 

Chip 5 Input Noise at 2.00fC Nent = 128    

 4.424 ±Constant = 40.86 
 3.682 ±Mean     =  1341 
 2.603 ±Sigma    = 41.65 
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